A & 0l & A

20149 =3 1 38 JIEESEH & ™ (&)
2Ok 22 - IBAY - SRAAH (S H) Ol &k o J &3 oA HwE2 =28
5 Al 6,893,129 6,058,348 834,781 13.78%
ALY 6,385,344 5,608,213 777,131 13.86%
HWegs 52,907 0 52,907 =3
HE2HZH 454,878 450,135 4,743 1.05%
g}FES 309,435 275,635 33,800 12.26%
ot - =2 309,435 275,635 33,800 12.26%
=HESIEH 309,435 275,635 33,800 12.26%
Xot=2tel (Xot=2elEE3 ) 309,435 275,635 33,800 12.26%
At = Xl 1,340,267 1,309,715 30,552 2.33%
lzdge2d 1,340,267 1,309,715 30,552 2.33%
I=de2d 1,330,229 1,309,715 20,514 1.57%
=230II3(AESHIISSLESA) 254,320 285,479 A 31,159 A 10.91%
FOUAS L MEOH)Z(FULSLMHEOLY 1,075,909 1,024,236 51,673 5.05%
JI=EZ3)
HREs(FUHETR D) 10,038 0 10,038 =3
SHNES(=UMETIAN)(A==SHIISSES 10,038 0 10,038 =3
A
F=S5HWS 4,502,581 3,735,015 767,566 20.55%
e=2 31,027 29,528 1,499 5.08%
S ZAE 2 31,027 29,528 1,499 5.08%
JIBFAIE 22 (DIBAIESE3IH) 31,027 29,528 1,499 5.08%
hswns - =25/t 4,471,554 3,705,487 766,067 20.67%
3 ns2% &4 4,428,685 3,705,487 723,198 19.52%
=XE el (FXEHELEIH) 4,428,685 3,705,487 723,198 19.52%
Heegs (s ) 42,869 0 42,869 ==
SHNE (eI (=UHETSESIH) 42,869 0 42,869 =35
SEYXINY 285,968 287,848 A1,880 A 0.65%
KNS LAl 285,968 287,848 1,880 A0.65%
FE L RSAR ope 285,968 287,848 A1,880 A0.65%
SHEIMNEAS (FAHBEHEMLES ) 285,968 287,848 1,880 A0.65%
JIE 454,878 450,135 4,743 1.05%
JIE 454,878 450,135 4,743 1.05%
HY2AZH (RSHE L) 454,878 450,135 4,743 1.05%
OIH2IH(RSHF M) (FUHESESA) 440,770 436,027 4,743 1.09%
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